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11. Find the odd one out from the given | 11. 3 wm 95 7 9 399 51 997 0
alternatives. {A] ACE (B} FHJ
e BE e WL
12, AR A=2 M=26 Z=252 7 CAB # sty W
12, A=2,M=26, Z=252, then the sum of the N ' !
letters in CAB will be -
(A] 624 B) 12 1A] 624 B} 12
[C) 312 (D) 325 (C) 312 (D] 325
13. What will come in place of the guestion | 13. ¥ 5% % w93 = ¥ smm 7
AR 21 a7 14 25 16 B8l
21 a7 14 25 16 81 \r'
58 a9 P
58 39 : (a) 41 (B} 01
[A] 41 B 91 IC) 65 (D) 97
(53 89 ) 97 14, ¥ v swpe A T sgen S W A
14. A piece of paper is folded and cut as shown % o F
below in the gquestion figures. From the ™ T W e T J w
given answer figures, indicate how it will | - -ﬂﬂﬁf 3m ?
appear when opened E 3 =
<
o|[]
......... < o
1% 1A4)
(A} 2
< 4 =i T T
15.  In the following que 39 m 2 FmE
option of the g t
will appear on
symbaol X
(A} = 0:
[c) A o o 16. z—t?iwﬂwﬂmmt—
2403 t 3 : . {A) 612.35 |B) GDO.T5
16, is written in decimal form as : iC} 800.25 (D] 650.75
(A} 612.25 (B) G00.75 17. =F e ) R R IEa TS W .
(C) 800.25 (D) 650.75 10 B B v fareE Tt T £, @ mm
17. A train is running at a speed of 90 km/hr. g i
If it crosses a signal in 10 sec., then the b ﬂ::;ﬂ 4 -
length of the train in metres is : (A 150 (Bl 324
[A} 150 m [B] 324 m (C) 200 Hew (D) 250 e
(C) 900 m (D) 250 m 18, W 9w g F 30 wEE e S aeE W oae
18. Preeti apends 30% of his income on grocery el & e 1 40 wfeE 9E T e we
and 407% of remaining on travels. Afier this : habd d & &
she spends 25% on education. If his annual W T 25 wfned faln 1 N
income is ¥ 2,00,000. Find his annual FEE! IMF =0 T2 00000 T TEE IHF T
savings. A
(A) T 63,000 (2] T 36,000 (A} T 63,000 2] T 36,000
[C) T 63,500 (D) T 60,000 T} T 63,500 D) T 60,000
|
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19. 55% of the population of a town are males. | |9 oF wer 1 T390 F1 55 w90 79y §) 90 52
If the total population is 64100, the | gy c1on #, 7 Heewsi < v -
ey i {A] 35255 (B) 28845
(A} 35255 [B) 28845
[C) 30295 D) 29835 {C) 30205 D] 20835

20. A exceeds B by 40% and B is less than C | 20- A, B¥ 40% #ME 8 79 B, C 4 20% W 8. W
by 20%, then & : Cis: A:CE-

[A) 28 : 25 [B) 26 : 25 (A) 28:25 B} 26:25
[c)a:a ma:l C) 3:2 D) 3:1

21 a+.|||54+1||33+,||1u.5|.+ 160 =7 21. 8+ 54+\||38+ 105 +4f/169 =7
(4] 4 [B) &6 A 4 B} 6
c) 8 o) 10 ic) 8 D] 10

23, Which is the largest fraction among |22 iR TP IR AT -

342 £
B'5°3 .
2
Fal 3
[A) =
3 B S
1
x 3
€} 3 o 5

23, A certain sum amoi
at 8% per annum e nhiiﬁfﬂa% sl FEats ¥E W A
the sum.

(A} T 5,000 200
[(C) T 5,280 T 5,400
24. The HCF of TR A, |, 22 0 9E
W T
- . F A= FE 5
’ F A § A
7 # TrE 60
; : 5 74 =7 F
paise/m?. Find the total cost ncfgravdlmg (A) 7285 (B} T 200
T I
26. T 2400 ¥ =Y W 25% W

26. A shopkeeper sold goods for ¥ 2400 and bl 4w ﬁ;ﬁ A 43 A&
made a profit of 25% in the process. Find NS, WL Y WA .
hiz profit percent if he sold his goods for T T wiiEE {w F
T 2040 (A] 6.23% B} 7%

[A} 6.25% B 7% (C} 6.20% D) 6.5%
[C) 6.20% (D) 6.5% 27. W H HAF A THED R w5EY & g
- B [ 3
27. Elmaprmmagcm-'ﬁrmn:aafhﬂagcat Ewﬂ'ﬂraﬁﬂﬁﬁﬂ‘ﬁﬁﬁlﬂﬂﬂﬂz
the time of her marriage and she got married i
Tt =g THET TEE g T - 1 E 9
6 years ago. Age of her son is —— of her 12
1 it A Fif=m)
current age. Find the age of her son. EﬂT‘{]ﬂ -
[A}] 2 years [B] 5 years ) 2 B 5
[C] 4 years (D) 3 years icj 4= (D) 37
|
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28. Find the least five digit number which on | 28, <19 =% F1 w=¥a @& @ 99 F1 &30 12, 18,
divided by 12, 18, 21 and 28 leaves the 21 T 28 T fIafeE T W TEE T 99
same remainder.

(A] 11019 (B) 10081 {A) 11019 (B) 10081
[C] 10059 (D} 10289 (C} 10059 ) ) !D] 10289

29. Which of the following is the largest number ? | 20, F=THfEd 4 3 w38 35 @ #9-@ 17
[A) 20% of 200  ([B] 7% of 500 (A] 200 F120%  (B) 500 F 7%

" %ﬁhl"ﬁfﬂﬂ% ﬂf?h_ [ﬁ;%ﬁm% ‘:_:;7 —_— C) 3 1300% (D) 7 1 600%

kL 2 INCOmE o 13 more an t T o .
B and the income of B is 20% less than of | 30 TR A ¥ =@ B 4 10% 7w 2 3w B 3 =9
C, then the incomes of A, B and C are in C @ 20% FA 8.7 A, B 9 C F =09 T 3um
the ratio : £
(A} 22:20:25 [B) 11:10:8 (A] 22:20:25 (B) 11:10:8
bl @) 2RA8 24D, (C) 10:9:7 (D) 22:18:25

31 Il.'lwhlcha!atcnflndm,ﬂmﬁmt Paleolithic 3. WA F e 0A 4 wE wm I a §oaE

site was discovered?

[A} Jammu & Kashmir w7

(B] Rajasthan (A) F9-F¥ (B) T

[C) Madhya Pradesh (C) i (D) Farew

D) Karmataka T = - .

3. E:L!.]’TI:I‘.I.I sanction [ : "ﬁ _Ek TN AT % Fe R w e T
Supreme Court of = = L1
[A) 20 {A] 20 {B] 25
(C) 30 iC} 30 3 31

33, Who among the fal 5§ 4 fFG I & goir & 79 faFe-n-me
assumed the title 8 .

(A} Balban

(B) Alauddin Khal
[C) Muhammad- bin
(D} Sikandar Lag

34. Which among
AN T T i
India ? A =TT #
[A) Allahabad H
(B) Delhi
(C) CalgeiaHig
[D} Bombay Hi

35, Identify the no
given options. i

M nese B] M esium 1 :; 3 =
E‘é}] N H o 35. I m fIFEed € B -l =mfe s

36. Ammonium sulphate is (A) e (B) Hrifer
[A) Insecticide |B) Weedicide |C) fofeE (D aiEaEE
[C) Fertilizer (D} Tonic chemical 36, HTHTH 9§

37. The term 'gene’ refers to FreawF
(A} A portiEn of RNA (A i e S
(B) A linkage group (C) = ) (D) == T
[C] A portions of DNA 37. = '&5' F9 felE Fa R

38 E.lunﬂ!n'ﬁha:?::f‘“ ?Iflmm Bro I EIA SIS (b X

e | {as trict o arvana was a MmIe 3
Civilisation? & s i DN'.FLH' b “-1111 [CH: S e o
[A} Mahendragarh [B] Hisar 38, ¥ & fEm fao 9 oF FRE g0 geE s
[C] Palwal (D) Sirsa (A) TSR {B) féam
39. ;ﬁm mﬂmh with which state? (C) == (D)
ima 8 .
(B) Rajasthan 39. Tamm T fFn =T 9 O w ga 87
[C) Punjab 1A) feme= wEm (B) =
(D} All of the ahove (C) 7= (D) TwiE W
|
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40. The reason behind decrease in the boiling [ 40, =fvys =98 = T % Fuws 4 F9H 5 79
point of water at higher altitudes is Fm &
{A) high temperature A
[B] low temperature E;] ﬁ
[C) high atmoapheric pressure 8 bl
[D} low atmospheric pressure IC) 7= E"EI"ﬁﬁ"T HEE
41. Which among the following led to (D) FH FEHEEE ==
Jalliamwalla Bagh massacre? 41. = ¥ | TR-m AREE W wEen F e
(A} The Arms Act Frm a7
[B) The Rowlatt Act
[C] The Public Safety Act (A) gm““"'
[D} Vernacular Press Act (B) Tz
42 The Marora atomic power plant is located (C) wrfafaF mren siufTm
in which district of Uttar Pradesh? D) T FE TR
(A} Bulandshahar (B] Barabanki 42, = e fEaH 99w I owiw o e fae A
[C) Saharanpur (D} Chanduali foed 7
43, White Phosphorous is represented by which
among the following symbols? (A) T (B) ST
[A) P1 {Bj P2 (C) woreTg (D) <ot
[C] P3 D) P4 351 99T § § FR-T oH e =5 aEnieE
44. Which one of the followin “Hrwm AT
essential element for-plants IN:-El (B P2
(A Irom (€} P3 D) P4
45 %E%'thmafmtuhf!ﬁui A & = 0 F T oF wfEd 7= A
5 ich o
Kalidasa? (A) T o B
(A} Raghuvamsha 1
{B] Kumara Samb A W7
(C] Malti Madhava &l
(D) None of these §
46.  In which state af
named “Menm
bl T v e 8
47.
N
Ad f3am Fum
[C]) M}rsuru
[D' Ahmedabad . 5 T Lt
48, Internations 5 aF — ] D) =g ;
Investigation (ICEI) will be set up in wh:ch 48, f@m yw0H =9 | s & A0 9 o
city? g m #7
[A} Nagpur |(B] Pune TR 2
[C] Ghaziabad 1D Kanpur :EJI m :E; o
489_  What is the rank of Haryana in the country . kS 2 &
in term of leteracy rate? 49. W T F W EAT W T A 9
(A} 21 (2] 23 fA) 21 iB) 23
[C) 22 (D) 20 iC) 22 (D] 20
50. In which of the following districts, Haryana | 50, 35 fam 9 & #fram 3 i 2 =27 fiug £7
[Bﬁl:]lﬂ;l::-l!:bf SL'.]'H:IID] Ed:l;?h:;lh;]i;imawd? A) foEET B fﬂﬂq;
wani
: {C) Famm (D) FEET
[C] Sirsa (D) Mahendragarh 7 - e P
51. The number of autosomes in man is s | mﬁmﬂﬁm :ﬁﬁ??
(A) 22 pairs (B] 11 pairs (A) 22 w5 (B) 114
[C] 43 pairs (D} 23 pairs (C) 43 =g (D) 23 =% :
52. Which Indian scholar has been appointed | 52. F-m Wi FEER 390 fHvafameg % o
as the Vice Chancellor of the University of F =y 4 W 9 W 7
Canberra? =
i A &5 E =
(A] H Deep Saini  (B) Sagar Mal 'c] E‘: ol ‘D} i ulfe
[C] Mandecp Singh (D] Stcphen Parker 1<) (D) =
|
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53,

54,

53.

o,

7.

58,

59.

G0,

61.

G2,

63,

[T

63,

Gl

The International Mother Language Day is
obhaerved on which date?

[A] February 21 B] March 12

[C) April 9 (D} May 6
‘Kannaur' is the old name of

(A} Karnal (B) Mahendragarh
[C) Rawari (D Palwal

Who Flundered the peacock Throne of shah
Jahan?

[A] Nadir Shah

[B] Timur Lung

[C) Ahmad shah abdali

[D) None of the abowe

Which is of the following countrics is
hosting the 2015 South Asian Football
Federation Cup?

(4] India (B) Sri Lanka

[C] Bangladesh D) Maldives

In which of the following districts kunal pre-
Harappan site was discovered?

[A] Hisar (B) Sirsa

(C) Fatehahad WA
When the Harvana
[A] Nov I, 1966
[C) Sep 4, 1967
Under which Mug

[B] Shah Alam [I
[C) Shah Alam
(D) Aurangzeb _g
Who wasa the 1

In India, a three ter Pan.eha}rnt is envigaged
for atates which have a population abowve__

(A} 15 Lakh {B) 20 Lakh

[C] 25 Lakh (D} 30 Lakh

Identify the thermosetting plastic from the
(4] Polythene

[B] Bakelite

[C] Polyvincychloride

[D) Casseine

Active transport of ions by the cell requires
{A) High temperature

[B] ATP

[C] Alkaline pH

[D) Salta

The hydraulic press depends upon :
[A] Coulomb's law

[B] Pascal's principle

[C] Boyle's law

[D} Bernouli's principle

53. AT TAem f5EE 9 R = 60
(A) 21 weEd B) 12 7
(C) O = (D] & 7
54. ‘T T WER AHE 7
(A) Fro (B) FE=ETE
(C) = (D) ==
55. foEs WEEE & 99 TR ¥ o
(A) Tz R (B] W =
(C) #79E e «=rFh (D] 790 4 |9 F 60
S6. 1 B A FE-m 205 e wiee fediE wEen
T F7 A=A WD
(A) v (B) ==F
(C) e (D) BEEE
57. Fesfafes == 7 % 59 399 9 =0 o F
o= F W EiE
(&) femmm (B farar
_IC) wEEER (D) e
58, - FAAm W W RS F= Em A
= —|A) F 990 1066 (B) 2 fIHEr 1965

59.

63.

6.

(C) | faddr 1067 (D) 2 =@Er 1908
mwm#mmmamﬂ

------ | AuF
=Men
(A) 15 Fm (B} 20 Fr3
(C) 25 7m (D) 30 =
T e foeat 4 9 weiafen whfes R 9eEE S0
(A) S (B %7
(C) T Fms (D) e

FIOE WO A W WY wiEes F s
famd &7

{A) 799 AH (B} w2t

(C) & de (D) =¥

TrgifE wm fFe w fol = 87

IA] =4 1 Fr

|B) T = fEEE

(C) F15 3 fTH

(D) 3Tl & o

Haote
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67.  Who led the Revolt of 1857 in the district of [ 67. ffam % 1857 1 6% 951 =90 @7
E*:}“Ed R o (A] T30 faw (B) PR ar=m
almn mg arTm Azam
(C) Bahadur Shah (D] Wajid Ali (C) %3t v (D) W et
68, Which among the following districts came G8. ﬁﬁl'.ﬁﬁﬁ # i w Frefon e & s am E
under Assigned Territorics? (A) = {B) FA
Eaé}] ;:w_ari :E; inan;fpa;“ (C) = (D) =9 & w+
nipat t e A fafm whEMT & &
69. In which year, British had established full Bl fvu i hadb i LRins
control over the territory of Haryana? R i FE 7
(4] 1805 (B] 1810 IEJ igg B} igig
[C] 180D (D] 1818 IC) i ‘
70. ‘Who among the following was the first ruler | 70, fa@ist a1 F1 % wm® 79 4 4 95 =0
of khilji Dynasty? (A] FARTER fada  (B) #eEsE fere faet=
(A} Alauddin Khiliji IC) B fmst (D) 7w 99w
[B) Jalal-ud-din Firoz Khilji e : 3
(C) Malik Khiliji 71. 125 = 9 70 9w T = fFw fE 949
(D} None of the above w?
71. Who among the following established forts (A) =Far (B] TEWE T
at Taraori and Hansi in the 13th century? | - —yey 956 7= =R (D) 7w 9 & ¥ T
e : — = — | 7o vRUmw T wR S amE e e
(B] Mohammad G =y bl
[C) Prithviraj Chau =" |A] e iB)
[} Nonc of the a (C) femm (D) T
72. The most populo Firarm = 55 f57 9 | fFed o399 93 I3 fn
[A} Gurgaon b
[C] Hisar
73. Which among th
Haryvana has high
(A} Rewari @ = & ?
[C] Mewat 3
74. In which year S€
(4) 1930 o 7
T5.
A 4 o = A 87
76. Thaneasar is th
following distric
[A} Fatehabad B) Kurukshetra &
[C] Sonipat (D] Panipat o .
T7. Chinege Pilgrim Huien Taang vistied during {A) =TT (B} "AE
:1-‘;1 e i iC) v (D) e
Agroha AMEsAT - P
(C] Palveal {D} Narnanl 78, wq':r;:rﬁﬂﬂrﬂmm mlI;:mﬂz_Tw 7
78. The First Battle of Panipat was fought IA) (B)
during which year? IC) 1530 IF}] 1520
(&) 1536 (B) 1526 79. fwg = A #Emm F 9=" F oy {599 w0
[C) 1530 (D) 1520 ey
T9. In u._rhil:h year, Haryana was merged with [A) 1857 {B] 1858
Punjab?
(A} 1857 {B) 1858 il Bt ID,] 1&59
[E] 1867 “:P]- 1869 80. ﬁmm*mﬁhﬁ#“miﬁm
B0, 'Which among the following area came under ST
Assigned Territories? |A) T (B8] =
(4} Kuh (B) Nagina j
[C] Hathim (D} All of these e v wi
|
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g1. 'IW {Fow wwEE T 7 Directions (. Nos. 91 and 94) Transform the
- following exclamato sentences into
W (B) Auurth‘u‘-nntam-. ol
{C} #9= (D) =4 | = & 91. How sad was the sight of the deserted place!
A) That deserted place presented sight
B2. TrEN ®RE E [
(B] That deserted place presented very sad
(A) B) T ight
(C) Wm-TE (D) w=rd {C) That sight was the deserted place
B3, WE T IFm {D) That deserted place see very sad right
. - 92. ©Oh that, | were a bird!
& Bnaiboinekan sl {A} 1 wish that I were a bird
(B} ¥ %1 F9 wE = wm {B] I wish I were a bird
[C} e T F 59 7 {C) 1 wish 1 was a bird
(D) FoE =EET 99 W wy ¥ Fg 7 (D) I wish [ can a bird
EERCT 93. You......... have written to him earlier.
. PRV N s {A) may (B) ought to
(A) - [B) Fr=-#7 IC) used to (D] need
(C) Tr=-78m (D)= ~ Prefix ‘fore’ can be used with
B5. fom 979 9 swed ¥ @4 A} fell, knowledge
(A) fEETEEE {B) possible, head
(C] loyal, frost
(C} == (D} action, intermarry
86 R A 0 |Q ]Iul. BEMDGjﬂnduttlu
iA) . ence is error
iC) =Fwn out a solution [B)/
87. fralefma 7= 1 4ill be awarded a price.
{A) fRwi at{B)/ his father
1/ Mo error (O]
88 8) Choose the
: e the sentence.
‘N present tense
eyl 98. The wind........_.. very apeedily tonight.
(D) . ‘Tda'l. W {A) blowing {B) is blowing
BO. 'dEw A F A § Edem owe § See gieEr C) arc blowing (D) blow
fram” arm 99 ¥ @4 g0 freRan @w sfrem | Directions (Q. Nos. 99 and 100) Select the base
T - A e answer for the following question.
JERSE Sir =t P 99, If you live in a corrupt society, you cannot
jA) F=EEE gdEE (B) TRy TEEE casily rise ..... the prevailing corruption.
(C) =r9gen TEE (D) gEEEE gEan 1A} upon (B) owver
o0, wd @ fFaF T gE 7 (C) beyond iDj abave
100 It was first time he had eaten a square meal
(A) =wasia () vy . he had left the village.
(C] =r: =g (D) = {B) for {A] since
(C) befare (D) although
|
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" l
1. In acertain code, PAN is written as 31 and | 1. f&= 5797 $5 9 PAN 1 31 F =3 § 79 PAR
::$%sﬁd.cda335;wh:tmllb:th:md:of F 35 F = 0 f9mF & ot T ° PAT ) fFn
in the same code ? r
wiE 9 fagh?
[A) 30 [B] 37 (A} 30 (B) 37
[C) 39 D) 41 (C) 39 (D) 41
3 - .
I 2. 49:81:64:7
iy ah £y 100 {A] 36 B} 100
[C] 121 (O} 144
! Cj 121 (D) 144
3. Deepak is the brother of Naresh and Suresh lf ; 5 N
is the father of Deecpak. Ramesh is the % =|1.1|1 w1 HBn -ﬂh 2 1 21
brother of Anu and Anu is the daughter of 1 ¥ € T 3 W R 2 v S e
Maresh. Who is the uncle of Ramesh? 1A) FmE (B) =
[A] Deepak [B] Suresh (C) m (D] ¥8 & T =8
[C] Naresh (D} Mone of these 4 PE R
4. Pleasure : Sorrow 1: Right - ? : i R
(A} Wrong (B) Wonderful . | MW W (B) =mrd
(C) Happy (D):Sure_~ — - e D) FRem
5. I NATION is coded = =9 'NATION' 9 467234 & ¥4 H Fifed 0 €,
vt et 100y tha ~ W 'EARN' ¥ 1654 % w3 @ Fifza 4 &, @
m[ A}dtd-d:}g%ﬂ-igfaﬁl 'ATTENTION #1 Fr= 7rm:
(C] 766412743 A} 432769561 [B) 956143654
6. If'blue’ means g D) ﬁ'? [?2,:!4- P
white' means ‘vellowe, yellow” me. 1 WHT, A
‘black' means red i ‘red’ means il L, T # o
then what is theSalot.afmill-2:" A ECEIR s T
[A] Green -
[C] Blue "
7. If +" is =
then answer Tl 7 o AR
on this jnf oE F e W
B+T=
(A} -3 o gt o
() 2 = w2 B) T
B. Looking at a_w [es i = L - ib B
Raman said, 'ah_: _ia the :EiEII:Cr of the | 5 a3 am 45 7= Tt 3997 = F50 £, "92 24
hushand of my wife”. How is the woman o F T AR T T | wan i
related to Raman 2 24
[A] Daughter [B] Sister 4 (B} =3
[C) Wife (D) Niece IC) (D) e
O,  What was the day on 17th June, 10087 9. AT 9§, 1908 T FE w3 o
E‘é]; :frD:dE:d Eg]l szﬂd:i (A] =R (B) HeEm
ednesday ursday 3@ e
10,  Which number should replace the gquestion :ﬂr ‘E;] # o
3 6 6 | 258 G & 6 | 258
7 7 7 | 309 7 r A
a ] B 584 8 8 a 384
g9 g 9 7 9 9 8 2
(A] 758 (B) 729 1A] 738 (B} 729
[C] 8356 (D) 819 IC) 856 D) 819
|
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